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And let him also be liable for taking a life

OVERVIEW

The X3 asks why there is no nXvrn 20 for 72wW3 N0l in the case of on 787
wxm. There is a dispute whether one who is' 7712m2 p%pn is 270 (the view of ™
NYnw), or M1 (the view of 777 ). Our NMdOIN explains our X3 according to both
views.
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The X3 has a valid question even according to >''2 who maintains that »pbp»
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For wherever these is even a partial benefit he is 297, as the X713 states in ndon

2 oD at the end of 29727 XX 7D -
= 077 1391 DIV MM NI INIY D991 1INV SHYP PPN Y 11PNNY NNH2 M) XN

So here too (by the 11%1) there is a partial benefit by killing it, for now when it
is dead, it does not squirm here and there, so it is easier to remove the

blood/dye from it.
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And according to the conclusion of the X713 that as long as the 17on is alive it is
more beneficial, this is also a valid answer according to "' -
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For now there is no benefit at all in killing the 15n, so it is 7212 %% and therefore he
is v,

mooIN anticipates a possible misunderstanding:

! Making a 7™man (a wound where there is bloodletting) is part of mnwi n»v1, however if this wound is only
destructive, it is referred to as 7112n2 9p%pn. Here by the 1o it is seemingly destructive.
2 See X, 1mpY.
3 Seemingly killing the 12197 is a destructive act without any benefit; it is a classic case of 711an2 9P%pn; why should
he be 217 according to °" who maintains 7272 2P%pn is MWD, Mo0IN explains that the question of the X3 is valid
even according to *"1 (and certainly according to " [see footnote # 8]).
4 The X7m3 there states that if one is LMY a MOD 127P on NAW2a NA> 2nw 5", for people who cannot eat a N°1>, he is
21 for nawa vmw (even though the 1277 cannot be eaten so he is a 9p%pn, nevertheless he is 2°n) since if this j27p
2105 is brought on the nam the 17 is 177 R, so there is a n¥p NPon.
5 See Mo later *3 7"7 which explains why it is merely a n¥p 17°n, when seemingly he is o777 71%% 217 for which
he is 211 just like 12937 71%1 92117 (he needs the blood, it is not considered p%pn).
¢ The dye is brighter when taken from a live 11771 as opposed to a dead one.
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However our X223 is in accordance even with @' who is 572m2 Dpopn a»nn -
:NYD 9PN VNP KY DY NIV YEN NN IP0YNN UNRTH

Since X217 answered the reason he is 79 for 72wl n9°W1 is because he is poynn»
regarding m»wi nvovi, but X211 did not answer that he is 7o because he is a
birkiri )

SUMMARY

The questioner assumed that there is a n¥p 1?°n so therefore he should be 211 for
Tnw1 N1 even according to °"7; the answer is that he is (9P%pn and) povnn so
therefore he is MW even according to w"A.

THINKING IT OVER

MooIN proves that our X773 is even according to w"A since the answer given is that
he is Mo because he is a poynn.'® However, why does moaoin need proof; the X3
clearly states 121 7w p°052 W' 77 11NN INRT XA AR XY, we see that the
X3 is dealing with the view of w"9, why does npo1n need to offer proof?!!!

7 It seems that our X3 endorses the view of " that 712am2 9p%pn is 7MwD as opposed to the view of w"1 that he is
211, Our nMvIN rejects this view.
8 Mmoo is saying that the 7997 of the X2 that there is no 21 for A»w1 N1 is valid even according to w" (and
certainly according to *"1 [see footnote # 3]). The proof is from the answer of povnn, which is unnecessary according
to *". See ‘Thinking it over’.
% povnn means that when he is doing the 719871 he is preoccupied; he has no intention of doing this at all. poyna is
7101 because by NAw NoRY1 we require a NAWnN NIXM a planned and thoughtful 7ox%1. Here the one who is extracting
the dye does not want the 17797 to die at all (for then the dye will be inferior), it died accidentally; this is not a nax?»
nawnn. See the following povnn 1"7 'oIn. The fact that the 8123 did not merely answer that he is %p%pn proves that the
X7n1 is (also) following the opinion of w'"..
10'See footnote 8.
' See 0"7n and DMK "1d.
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